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BEANRE SHTEE TR RF MBI 2 REE

% b R - Ktk Bif % =2 B O\ & & =
EiA=2& 9,064, 936
BEXH% 9,064, 936
TILFE—LAZE 3,812,864
TILFE—LAR [FREFME (-10.5m) (- 3,812,864
8.5m) ]

B2 529, 222
1 BE#EmE) 1.00 381,527 381,527

=
2 HERER (1) RB~HTHE QFEHY) 1.00 147, 695 147, 695

%
KEAE 1, 456, 487
3 BRI (1) 1.00 12,958 12,958

A
4 BETRM0) 1.00 694,574 694,574

=
5 YILFE—LALRE 1.26 594, 409 748, 955

km?2

MR 1,827,155
6 |MESIER (1) 1.00 1,827,155 1,827,155

=
iz 8l E 822,813
iz BlE [FREFME (-10.5m) (-8.5m) ] 822,813
i8S 379, 524
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£ kg B - BAKHE Bifig = LI ) 1
7T L—Y—XX v+ 1.00 379, 524 379, 524
=®
R 443, 289
8 BRHE 1.00 443, 289 443, 289
=®
FRA=E 3,747, 646
FERNE RS/ EFMEE6.0m] [FHHE 3,747, 646
BF MRS (-4. 5m) ]
B2 551,783
9 BIE%1EQ2) v ME . PEEF 1.00 303, 757 303, 757
%
10 B IEE (2) B ~FE (1ERESY) 1.00 74, 493 74, 493
=®
11 B ERE (3) TE~RE (1FEEHY) 1.00 74,103 74,103
=®
12 B IENE (4) ME~ER (1FEEHY) 1.00 99, 430 99, 430
%
KEAE [R5/ BEAME (-6. 0m) ] 936, 861
13 REBEHEE(2) 2.00 12,958 25,916
=]
14 BETRLQ 1.00 266, 300 266, 300
=®
15 F&BIZE) 56.10 11, 491 644, 645
km
KiEB=E [FEAEFMME (-4.5m) ] 812,208
16 2KERE - BE 1.00 331,128 331,128
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17 EXKEEH 1.00 39, 028 39,028

=]
18 SKIFRPE N EE 1.00 6,479 6,479

=]
19 BBETRX Q) 1.00 266, 760 266, 760

=
20 BEAEQ2) 11.90 14,186 168, 813

km

[ 1,446, 794
21 HESER(2) 1.00 1,446, 794 1,446, 794

=
BEXH 199, 650
BEXH 199, 650
& - |E 199, 650
22 HHIRE 1.00 86, 750 86, 750

=l
23 thfEReE 1.00 56, 450 56, 450

=l
24 SRS 1.00 56, 450 56, 450

=l
EERE 481, 963
EERE 481, 963
[ 200, 000
25 XBHRS 1.00 200, 000 200, 000
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% [ Bg - KT B % B B i * % wmE
REXBE 233, 663
26 1R#& 1.00 233, 663 233, 663
=
Z 0t 48, 300
21 HFiEEE 1.00 48, 300 48, 300
=
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% g & - BARTE Bifg B 2 B ® & wmzE
EENER 9,064, 936
ERE 9,064,936 x 75.1% — 2,702 6, 805, 064
ABEEE 9,064,936 + 6,805, 064 15,870, 000
e T 15, 870, 000
HBEREHELE 15,870,000 x 10.00% 1,587, 000
HEXHE 15,870,000 + 1,587, 000 17,457, 000
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& BEEERE ) 1KY
2 o g - BIRTE By = =i} %8 W= " =
RIS EFHEm
A 2.00 60, 600. 00 121, 200
B EHER
A 3.00 52, 300. 00 156, 900
B E A
A 2.00 41,100. 00 82,200
RIEBF
A 0.50 34, 900. 00 17, 450
AN 2H0%
% 1.00 3717, 750. 00 3,171
& b 1EZRER : 1,00 381, 527.00 381, 5217
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B EAMER () RB~BTE 2@FEZY) 1KY
2 £ g - BIRTE By = =i} %8 W= " =
REHENE
A 2.00 28, 700. 00 57, 400
K>y 2tiE
B 3.00 29,611.00 88,833/4.70H / 8H
A 2H0%
% 1.00 146, 233. 00 1,462
& b 1EZRER : 1.00 147, 695. 00 147, 695
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2 BREBEMNEEQ) 108%Y
2 £ g - BIRTE By = =i} %8 W= " =
B EHER
A 1.00 52, 300. 00 52,300
B E A
A 1.00 41,100. 00 41,100
RIEBF
A 1.00 34, 900. 00 34,900
AN 2E0%
% 1.00 128, 300. 00 1,283
& b 1E%8EA £ 10.008 12, 958. 00 129, 583
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RBE 54 kN2 20

=] 1.00 3, 658. 00 3,658/2.00H / 8H
S EEBED

A 1.00 60, 600. 00 60, 600
pilk=253:01

A 1.50 52, 300. 00 78, 450
2 A4

A 1.50 41,100. 00 61, 650
HEBF

A 1.00 34, 900. 00 34,900
HIE M FRP D 70PS%Y

=] 1.00 82, 800. 00 82, 800|8H
GNSSRII 4 & DGNSS

=] 1.00 25, 740. 00 25,740
TILF E— LFEAIRE 36~455kHz

=] 1.00 339, 900. 00 339, 900
AR EXzNOV!

% 1.00 687, 698. 00 6,876
a i EERES 1,00 694, 574. 00 694, 574
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F5:5
B TILTFE—LAE 1B%Y (1.07km?2)
2 o g - BIRTE By = =i} %8 W= " =
REE >4 kN2 2L
B 1.00 3, 658. 00 3,658/2.00H / 8H
A= FRP D 70PSZ!
B 1.00 82, 800. 00 82,800 8H
Bl EEFHED
A 1.00 60, 600. 00 60, 600
B EHER
A 1.00 52, 300. 00 52,300
B E A
A 1.00 41,100. 00 41,100
RIEBF
A 0.50 34, 900. 00 17, 450
GNSSRIfI & DGNSS
B 1.00 25, 740. 00 25, 740
TILF E—LTEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
AN 2H0%
% 2.00 623, 548. 00 12,470
& b E%8EH 1. 07Tkm?2 594, 409. 00 636,018
F5:6
B mES4ER () 1%y
2 £ g - BIRTE By = =i} %8 W= " =
RIS EFHED
A 4.80 60, 600. 00 290, 880
B EHER
A 16. 40 52, 300. 00 857, 720
B E A
A 14. 80 41,100. 00 608, 280
A 2H0%
% 4.00 1, 756, 880. 00 70, 275
& b 1EZRER : 1.00 1,827,155.00 1,827,155
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2 L g - BIRTE By H = B O{f £ = & &
RBEEHE >4 kN2 2L
=] 1.00 3, 658. 00 3,658 2.00H / 8H
I E AR
A 1.00 52, 300. 00 52, 300
RIS AT
A 2.00 41,100. 00 82, 200
REBF
A 2.00 34,900. 00 69, 800
GNSS:RIfI 2= B DGNSS
A 1.65 15, 600. 00 25,740
L—H—XFvF
=] 1.65 81, 680. 00 134,772
AN 2{K0Y%
% 3.00 368, 470. 00 11,054
= B EZE8EH - 1.00K 379, 524. 00 379, 524
F5:8
22 L g - BIRTE By H = B O{f £ = & &
B FEHE
A 0.50 60, 600. 00 30, 300
I E AR
A 2.00 52, 300. 00 104, 600
RIS AT
A 4.00 41,100. 00 164, 400
AEBF
A 4.00 34,900. 00 139, 600
AN 2{K0Y%
% 1.00 438, 900. 00 4,389
& B EZE8eH - 1.00K 443, 289. 00 443, 289
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2% QSR Q) i/ EF. FEEF D)
% R B - BKTE B £ B ) B = w &
B2 FERER
A 1.50 60, 600. 00 90, 900
pilk=e53:07
A 2.50 52, 300. 00 130, 750
2 A4
A 1.50 41,100. 00 61, 650
BIEBF
A 0.50 34, 900. 00 17, 450
A EX NV
% 1.00 300, 750. 00 3,007
= g %80 ¢ 1. 00K 303, 757.00 303, 757
&S :10
£ BMERR (2 wER~T (1FEEHY) D)
% R B - BKTE B £ B £ B = w &
HEMHBE
A 1.00 28, 700. 00 28, 700
Fowy 2tH&
=] 0.50 29, 539. 00 14,769 4.70H / 8H
AR
% 1.00 43, 469. 00 434
71 —EE R ~ Sl
= 1.00 30, 590. 00 30, 590
& &t EERES 1,00 74, 493. 00 74. 493
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B BAERQ) TE~xE (1FEEHY) 1KLY
2 o g - BIRTE By = i %8 W= " =
REHENE
A 1.00 28, 700. 00 28, 700
vy 2tiE
B 0.50 29, 845.00 14,922 4. 70H / 8H
AN
% 1.00 43, 622. 00 436
JIl)—EE Sz~ %t E
= 1.00 30, 045. 00 30, 045
& it 1EZREA - 1.00 74,103. 00 74,103
&5 12
B EMER W) E~ERE (1EEHY) 1KLY
2 £ g - BIRTE By = i %8 W= " =
REENE
A 1.00 28, 700. 00 28, 700
vy 2tiE
B 0.50 29, 485. 00 14,742 4.70H / 8H
AN
% 1.00 43, 442. 00 434
Jz)—EE xt B ~ &
= 1.00 55, 554. 00 55, 554
& it 1EZRER : 1.00 99, 430. 00 99, 430
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B BREENEE(2) 108%Y
2 £ g - BIRTE By = i %8 W= " =
B EHER
A 1.00 52, 300. 00 52,300
B E A
A 1.00 41,100. 00 41,100
RIEBF
A 1.00 34, 900. 00 34,900
AN 2E0%
% 1.00 128, 300. 00 1,283
& b 1E%8EA £ 10.008 12, 958. 00 129, 583
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&S .14
2 L I - BIKTE B4L £ B ff £ = " %
RBEEHE >4 kN2 2L
B 1.00 3, 630. 00 3,630 2.00H / 8H
B2 BEm
A 1.00 52, 300. 00 52, 300
RIS AT
A 1.00 41,100. 00 41,100
RIEBF
A 1.00 34,900. 00 34,900
BIE M FRP D 70PSE!
B 1.00 82, 069. 00 82, 069 8H
GNSS:RIfI 2= B DGNSS
B 1.00 25, 740. 00 25,740
BEBIRE 475m  90~230kHz
B 1.00 23,925.00 23,925
Mo 2R0%
% 1.00 263, 664. 00 2,636
& B EZE8EH - 1.00X 266, 300. 00 266, 300
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22 L I - BIKTE B4L £ B ff £ = " %
REEHE >4 kN2 2
B 1.00 3, 630. 00 3,630 2.00H / 8H
BIE M FRP D 70PSZE!
B 1.00 82, 069. 00 82, 069 8H
B2 BEm
A 1.00 52, 300. 00 52, 300
RIS AT
A 1.00 41,100. 00 41,100
RIEBF
A 2.00 34,900. 00 69, 800
GNSS:RIfI 2= B DGNSS
B 1.00 25, 740. 00 25,740
BEBIRE 475w  90~230kHz
B 1.00 23,925.00 23,925
Mo 2R0%
% 2.00 298, 564. 00 5 97
= B E%BESN : 26.50k m 11,491.00 304, 535
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& 2EKERE - BE
2 o g - BIRTE By = =i} %8 W= " =
REE >4 kN2 2L
B 2.00 3,742.00 7,484/2.00H / 8H
B EHER p: s
A 2.00 52, 300. 00 104, 600
B E A p: s
A 2.00 41,100. 00 82,200
RIEBF A=
A 2.00 34, 900. 00 69, 800
REHENE
A 2.00 28, 700. 00 57, 400
AN 2H0%
% 3.00 321, 484. 00 9, 644
& b 1EZRER : 1.00 331, 128. 00 331,128
&5 .17
2 . BKIERE
2 £ g - BIRTE By = =i} %8 W= " =
REE >4 kN2 2
B 1.00 3,742.00 3,742/2.00H / 8H
RIEBF
A 1.00 34, 900. 00 34,900
AN 2H0%
% 1.00 38, 642. 00 386
& b 1E%8EH : 1.008 39, 028. 00 39, 028
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B2 B Em HIE
A 0.50 52, 300. 00 26, 150
RIS AT HIE
A 0.50 41,100. 00 20, 550
RIEBF HIE
A 0.50 34,900. 00 17, 450
Mo 2R0%
% 1.00 64, 150. 00 641
& B {E34EH - 10.008 6,479.00 64, 791
&S :19
22 L I - BIKTE BAL £ B ff £ = " %
REEHE >4 kN2 2L
B 1.00 3,742.00 3,742 2.00H / 8H
B2 BEm
A 1.00 52, 300. 00 52, 300
RIS AT
A 1.00 41,100. 00 41,100
RIEBF
A 1.00 34,900. 00 34,900
BIE M FRP D 70PSZE!
B 1.00 82,412.00 82,412 8H
GNSS:RIfI 2= B DGNSS
B 1.00 25, 740. 00 25,740
BEBIRE 475w  90~230kHz
B 1.00 23,925.00 23,925
Mo 2R0%
% 1.00 264,119.00 2, 641
& B EZE8eH - 1.00K 266, 760. 00 266, 760
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= 1.00 3,742. 00 3,742 2.00H / 8H
RIEM FRP D 70PSE!
= 1.00 82, 412.00 82,412 84
pilk=253:01
A 1.00 52, 300. 00 52, 300
B REmE
A 1.00 41, 100. 00 41,100
AEBNTF
A 2.00 34, 900. 00 69, 800
GNSSHRIfIEE DGNSS
= 1.00 25, 740. 00 25, 740
SERR 45 90~230kHz
= 1.00 23, 925. 00 23,925
A EX NV
% 2.00 299, 019. 00 5, 980
& F fE£EEN : 21.50k m 14,186. 00 304, 999
&5 21
B IEEER(2) XLy
A g B - KT BfL £ B ® B wmE " %
B2 FAERED
A 3.40 60, 600. 00 206, 040
pilk=e53:07
A 11.30 52, 300. 00 590, 990
B REmE
A 11.30 41, 100. 00 464, 430
AEBNTF
A 4.90 34, 900. 00 171,010
AR EXNOY]
% 1.00 1,432, 470. 00 14, 324
& & 1E%AES : 1. 00K 1,446, 794.00 1,446, 794
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E5: .22
2 . BATHE
2 o g - BIRTE By = =i} 5 W= " =
RIS EFHEm
A 1.00 60, 600. 00 60, 600
B EHER
A 0.50 52, 300. 00 26, 150
& it YE%8EH 1. 00[E 86, 750. 00 86, 750
&5
B DS
2 £ g - BIRTE By = =i} 5 W= " =
RIS EFHED
A 0.50 60, 600. 00 30, 300
B EHER
A 0.50 52, 300. 00 26, 150
& it YE%8EH 1. 00[E 56, 450. 00 56, 450
BS54
A =RBRBRE
2 £ g - BIRTE By = =i} 5 W= " =
Bl EEFHED
A 0.50 60, 600. 00 30, 300
B EHER
A 0.50 52, 300. 00 26, 150
& it YE%8EH 1. 00[E 56, 450. 00 56, 450
&S5 :2
B EBBERR
2 £ g - BIRTE By = =i} %8 W= " =
EBHRERE
= 1.00 200, 000. 00 200, 000
& it 1EZREA - 1.00 200, 000. 00 200, 000
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2 o g - BIRTE By = =i} %8 W= " =
REXEE
= 1.00 233, 663. 00 233, 663
& b 1EZ8EA - 1.00 233, 663. 00 233, 663
&5 .27
2% BRiTEERE =)
2 £ g - BIRTE By = B 5 W= " =
E-RYVIRE BIEXEH
= 1.00 48, 300. 00 48, 300
& it 1EZREA - 1.00 48, 300. 00 48, 300
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